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I.  Raj will get these balloons only if he solves these sums correctly.  

 

       T    O      T     O    H    T    O                    H     T     O                   

      4     2                       2     1                    1    3    4                      2    5     1 

+   1     3                    +    7    2                       +    4   2     1                 +        1     6 

  ----------------           ------------------                         -------------------                    ------------------                

  ---------------                           ----------------                            -----------------                         --------------- 

 

 

 

 

 

 

 

 

II.  Add the following horizontally: 

a.  55 + 4 =  ___________   b.  83 + 13 =   __________ 

c.   78 + 20 = ___________   d.  46 + 40 =   ___________ 

e.   35 + 10 = ___________             f.   60 + 25 =  ___________ 
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III.  Fill in the blanks with the correct answer. 

a. The sum of 51 and 3 is equal to _____________. 
 

b. One more than 49 is _______________. 
 

c. 7 and 10 altogether is _______________. 
 

d. 65 plus 7 is equal to ______________. 
 

e. If we add 5 to 60, we will get ___________. 
 

f. By adding 72 and 6, we will get ____________. 
 

g. Adding 1 to 999 gives ______________ as the answer. 

IV. Solve the following: 

a. There are 38 long pencils and 14 short pencils in a box.  How many pencils 

are there in total in the box?   

 

 H T O 

No. of long pencils in the box    

No. of short pencils in the box    

Ans:  Total No. of pencils in the box    

 

b. Rohan has a sack of 345 potatoes and another sack with 212 potatoes. How 

many potatoes does Rohan have altogether?   

 H T O 

No. of potatoes in one sack    

No. of potatoes in another sack    

Ans:  Total No. of potatoes    
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